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(4) (14 points) Find the instantaneous rate of change of f(z) at x = 2. (Credit will not be awarded
for use of derivative rules not yet convered in this course.)
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(5) (10 points) Use the results of problem (X) to find the equation of the line tangent to the graph

of f(x) = vz — 1 at the point (2, 1).
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(6) (16 points 8 each) A particle moves along the z-axis so that its position at time ¢ is given by
z(t) = 2t — 1.

(a) Find the average velocity of the particle over the time interval fromt = 0to { = 2.
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(b) Find the instantaneous velocity of the particle at ¢ = 1. (Note: No units are necessary.)
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